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2020
GEOGRAPHY
[GENERAL)]
Paper : 11
Full Marks : 100 Time : 3 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in
their own words as far as practicable.
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ArF TR IAPTET e SR Ted face 23|

SECTION-A
(Short Answer Type)
1. Answer eight questions in all, selecting at least

one but not more than two from each Unit:

st 9 (A IAACE @I 5§ wfoa &N A @@=
5 =i arw Tex e ¢ 2x8=16
UNIT-I
(Geographical Thought)

1) Name two geographers associated with

deterministic school of thought.

wor AR e cereifera am @12
i1)  What is cultural region?

Alcghed Twe FIe F @R?
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iii)

Vi)

vii)

viii)
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Who is the author of "Kosmos"? What is the
basic content of "Kosmos"?
"Kosmos" «¥ Rel (2 "Kosmos" 9F I
fzae o e
UNIT-1I
(Economic Geography)

Name any two countries where mediterranean
agriculture is practiced.

SRR FR @bleTe TR GF 96 e AN
R

Name two major industries of Asansol
Durgapur industrial region.

SPECIE-rofod fieea wib exe Miem aw
=14

Which city of India is called 'Manchester of
India and why?

(Pl *2A(F OCOT WRBT @l 8GR (e 2

UNIT-I1I
(Population Geography)
What is optimum population?
IR G FH?
Differentiate between migration and

commuting.

Migration €3R commuting- 3 W& 2NLF F4|
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ix) Mention two countries plagued with the

problems of underpopulation.
GeFEeld PN 7o (eeR e @I |

UNIT-1V
(Race, Culture and Economy)
x)  What are the major linguistic groups of India?
SESECEIACTIL SG DI I Tt
xi) Name four major racial groups of the world.

e 24w s wife i T @l

xii) Enumerate the major problems of Kheria-

Sabars of Purulia.

Aeforaa IfGI->REeE &4ie Teiiefe S 4 |

UNIT-V
(Settlement Geography)

xiil) What is a nucleated settlement?

& Geife Fece [ @Re

xiv) What do you mean by 'Urban Fringe'?
“Na ToRFY” FETCe FARI?

xv) What are the major types of rural settlement?

AN TePifen g [RetsefE F Je
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SECTION-B
(Short Analytical Type)

Answer six in all. Question No. 2 is compulsory. Answer

five other questions select one from each Unit:

M6 =W aeid Ted wie | (R o SiRfs | afel ass
(AF OF6 FE@ I “folo drsia Ted wie ¢ 6x6=36

2.

Differentiate between Inductive and Deductive
methods in Geography. 6
gl Inductive €% Deductive method-a3 STy 212
R
OR

What do you mean by 'aerotropolis'? Discuss about
the transport and communication infrastructure of
Asansol-Durgapur industrial region. 2+4=6
'Aerotropolis’ 63 =1 Fl2 RO
FEisseE Al ¢ @S AR S
R

UNIT-1
(Geographical Thought)
Discuss the contributions of Alexander Von

Humboldt in the field of modern Geography. 6

wyfee @il Alexander Von Humboldt @3 SR@i
NGl 4|
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Define nodal region. Differentiate between formal
and functional region. 2+4=6

FEge wE I @ AFTE o ¢ G
ST W AL A w9
UNIT-1I
(Economic Geography)
Analyse the factors responsible for the growth and
development of Iron and Steel industry in USA.
Name two major industries of the Great Lakes
region in USA. 4+2=6
SRR T s Terolfe ¢ Reiem aam sReef
ResRe 3| SRR J28 g0 SRR g6 e RiEm
RIREEN
Give an outline of the distribution of Iron and
Steel industry in USA. Why is 'Detroit' famous
for? 4+2=6
NS ISANEG @Nz-T@ie MEm IBEa @@l vie |
(CHEDs J Gwy afrg
UNIT-1II
(Population Geography)
Explain the significance of Rural to Urban

migration with examples from West Bengal. Write
two pull factors of migration. 4+2=6

ARG THIRI AR & (A *RANEE AR
sleo it F91 A g Sl FRe @l
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10.

I1.

Distinguish among optimum population, over

population and under population. 6

I TR, Gl 8 GeFEeld W AL 91
UNIT-1IV

(Race, Culture and Economy)
Define culture. Discuss the geographical
distribution of Dravidean language family in India.
2+4=6
Acghon el wie | ClHre WRER Ol (P %
SCTH F |

Bring-out the human-environment relationship
adopted by Bushman tribe. Name two African
countries where Bushman are concentrated.

44+2=6
PR AFI-A TSR RIR SNAFAS 4 |
IS 7o (eI AN I @AE RO &
pleey

UNIT-V
(Settlement Geography)
What are the criteria for classification of
settlements into rural and urban? What is rurban?
5+1=6
GIPORls AN @R W7 @A Moo
! F? Rurban J&(0e FI (JRI2
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12.

13.

14.
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What is urban fringe? Differentiate between rural
and urban settlement from economic point of view.

2+4=6
(T1a o199 FeTce [ (@R1e i gioehne A ¢
“ZH GPTed AL 14|

SECTION-C
(Broad Answer Type)

Answer any four questions out of five Units:
AT 4 (AT - G Ao Ted wis
12x4=48
UNIT-1
(Geographical Thought)

Make a comparative analysis between deterministic
and possibilistic approach in Geography. What do
you mean by "genre de vie"? 10+2=12

SR FagEm ¢ TSR et w9

OIS SIEAGl F9 | "genre de vie" IECO I (A2

Define planning region. Discuss in detail the

methods of Regionalisation. 2+10=12

AfFFea TREd A we | eFdeaen [fey
smfoufel M SEDT 54|
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15.

16.

17.

18.

UNIT-1I
(Economic Geography)
What do you mean by subsistence agriculture?
Highlight the characteristics and problems of tea
plantation agriculture in India. 2+10=12
GiikerTgifeles FR 00 F @RI SIS bl 6!
SRw @R ¢ TR RS €A ETRAre 59 |

Discuss the dispersal of Cotton Textile industries
in India with valid reasons. What problems did the
industry face in post-partition India? 8+4=12
SIeE A M wfew Aenw @y Fieel
SEB F | (Ielel 26T o7 @2 b [ 5 opyfkaE
T T2

UNIT-I1I
(Population Geography)

What are the four scales of HDI? Discuss the
factors of migration. 4+8=12

HDI ¢3 o= w3 & &2 sfcaiees sk s
9|

Discuss the trends in population growth and spatial
pattern of population in India. What is agricultural
density? 10+2=12
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19.

20.

21.

22.

OIACe SR T &S] G GARACGT (R 46
SIEAG 41 Agricultural density J#(e J (@RI ?

UNIT-1V
(Race, Culture and Economy)

Define Culture. Discuss about the distribution of
major racial groups in the world. 2+10=12
Seglon kel wie | 2 wifs (il RS SIEtsa
B!

Describe the socio-economic life of Santhal tribe.
Name two Indian states where Santhals are
concentrated. 10+2=12
Aeod Toeifon SL-ANTEs G 3@ 39| SRCeT
wis e AN (@A @A Aol Sy el
TR

UNIT-V
(Settlement Geography)

Discuss with suitable examples the functional
classification of towns. Give examples of two
metropolitan cities from India. 10+2=12
ToRe TWiRRe AR T e @dieiel
B 9| SRR 4o GIGIAEn *=Ea Snigge
s |

Attempt a locational classification of towns. What

are the cultural functions performed by towns?
8+4=12
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SREMATS WP W@elim @dien 391 =1
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